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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Despite the fact that Gross Domestic Product (GDP) has increased substantially in the
industrialized West, the levels of human contentment have remained ---------- .

1) apposite 2) interwoven 3) static 4) implicit
Immigration ---------- from the Latin word migration and means the act of a foreigner
entering a country in the aim of obtaining the right of permanent residence.

1) gathers 2) obtains 3) arises 4) derives

Not speaking the same language as your customers can lead to communication ---------- .
1) breakdown 2) brevity 3) gesture 4) imitation

The factory’s workforce has ---------- from over 4,000 to a few hundred.

1) withdrawn 2) dwindled 3) undercut 4) forecasted

The police came up empty-handed despite an ---------- exploration of the suspect’s home.
1) exhaustive 2) inescapable 3) ephemeral 4) inevitable

When the old man married a woman in her thirties, all everyone talked about was the
---------- in the couple’s ages.

1) diversity 2) disparity 3) longevity 4) extension

One local factory will ---------- the town’s job shortage by providing 250 more jobs.

1) overlook 2) adjust 3) displace 4) alleviate

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

One commentator argues that the success of private schools is not in their money,
(8) ===~ their organization. State schools fail their pupils because, under government
control, they lack options. But if head teachers at state schools (9) --------- given the
same freedom as those at private schools, namely (10) ---------- poor teachers and pay
more to good ones, parents would not need to send their children to private schools any
more.



@@

@@



@@

@@



@@

@@



@@

@@



@@

@@



@@

@@



@@

@@



@@

@@



@@

@@



@@

@@



WY amieo @@ 807F @@ VoY 0F) Jir cwikign 9 pole

s (P = O30 3 U8B 38 ¥ Colino b (Mo 50 (S92 o gl yio Fo ,LSe j0 o515 (251 -4V
03,19 5158 yramno iy Comnil S0 plaw 3l o0 Wiz o B0 il
oA (¥ 070 VA ()
A (F VA (¥
§ ] gt oo Jlazsinl ©92 gy g1 Slaxi 3 cwlud J5im oguid s aluly plaS —4A
SIS > 0y ghad > ol (o (V Bl ()N > (ST > 0Ky wlad ()
RIS > by (0,0 > 08 alad (F o paSy gk > ol ()5 > (TS5 (T
Sl 25 7 £5 3l (S 09z oablo plas -44
Q0¥ of ol gl (¥ 4555 ()
oo F00 S a0 Sl (F Gl (v
(a2 o0 £ o) 42 (AT 0g7 S o (SomgS (yin Ve
e 92> 5l G Sugh) (F e 9> 55 Sagb, ()
gledl 9> 50 Zogh, (F it 9> 5l a8 Cugh) (¥

SR oladd] g SRz pilsd

faudl o BLAT dsws plaS (gl (glino) (ST il aalio o315 —V+)
23, b (F 23U Laxily (Rails) ndyels @l ()
2Sil gl (F oges gt (1
Sl pIAS g0 Ol il o Lol Sy —V+¥
Sl Caad 9 0,05 o Sl @b elil o (Y B10 Caand 9 0,135 o Sl oaiiigd g 4l > 0 ()
3,18 Ceagd ¢ 0,135 o I b ol o (F 3,00 Cead ¢ 0 )05 o Sl oailig 3 gl > o (Y
148 Wl oo Camwds Gloj Jols' jlazil I3l jo (guadgl uly S 5wl jo yisTas —1e¥
Al wo s V5l eS b 4y o Lol i (sl o po V51 Gl ooy S Lol S ()
AL Hho Cuod 4y S Lol aaS (F AL aly Ceed 4y S Lol aS (F
T S0 0 e 09 PINS 51 Ly D92 Caoad (i (6l - )F
00§ i aig 3o (F &8l Jlat (¥ il Con8 (Y oxile Sb 55,1 O
(el igly (Moo lawgz (o) adye Glds -1+
ol (F oSy (Y S5 (Y o ()
C sl camlin (o9 pIAS 080 33 S 2 i 3351 231 2 sl —V+F
el (P ol pliag anse (b cols, cwd (Y o a5 ()
(wl 498y o iy (pogas i b Cdgs Cdlbs (g (Jio 9 Codo (Jg g Wl T adgi VeV
g - e (¥ g 5 yreS - a5l e ()
e ) P - e 5l %eS (¥ e 3l i - e 5l S (T
Clam] plaS i a5 T Glous 150 sl Lol Yo —VeA
Sriplaxil - 6 pdleats, (¥ S il - g ndyt,Las! ()
Sribjlaxl - g pdeats, (F S riial; - (g pdyLasl (Y



@@

@@



@@

@@



@@

@@



	1307_Page_01
	1307_Page_02
	1307_Page_03
	1307_Page_04
	1307_Page_05
	1307_Page_06
	1307_Page_07
	1307_Page_08
	1307_Page_09
	1307_Page_10
	1307_Page_11
	1307_Page_12
	1307_Page_13
	1307_Page_14
	1307_Page_15
	1307_Page_16



